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4 COMPOSITE FUNCTION WORKSHEET
Directions: Show all work for credit. Work must be neat and answer must be circled.

For 1- 9: Let f(x) = 2x— 1, g(x) =3x, and h(x) = x* + 1. Compute the following:
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" For 10-11: Let f(x) = -3x + 7 and g(x) = 2x" — 8. Compute the following:
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1 I f(x)=3x-5 and g(x)=x", : 13 If f(x)=-9x-9 and g(x)=+x-9,
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10-7 | Practice Worksheet

-y Composition of Functions
- For each pair of functions, find [f - g](2) and [g ° 1](2).
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1. f(x) = 2% — 1 (3af)( \ 2. flx) = x* - 5 -
(x) = —3x Sz 3 - gx) = 3x? + 1
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For each pair of functions, find 1{g(x)] and g[f(x)]. .
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For each pair of funcﬁdns, find t{g(—3)] and g[f(—3)]. . S
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I f(x) = x2, g(x) = 5x, and h{x) = x + 4, find each value. '
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Express g o f and f < g, If they exist, as sets of ordered pairs.

11. f=1{(3,8), (2, 5), (4, -5), (9, 3)} 12, f= {a, 4), (10, 5), (6, —3)}
£ =19, 2), (~5,38), (5,9, (8, 10), (1, 9)} = {5, 1 -
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Perform the indicated operation.
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